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1) Determine the temperature of a black isothermal sphere orbiting around the Earth and exposed tol1 point
only solar radiation. Assume Qo) = 1353 W/m?

273 K
278 K
298 K

313K

No, the answer is incorrect.
Score: 0

Accepted Answers:
278K

2) In the problem 1, If the sphere absorbs radiation only in the spectral range (0.4 um to 3 1 point
um), determine its temperature. Assume the sphere behaves as black body in the given spectral range

800 K
298 K
600 K
400 K

No, the answer is incorrect.
Score: 0

Accepted Answers:

600 K

3) Determine the solid angle with which a sphere of radius 1 m is seen from another sphere of 1 point
radius 1 cm.

3.14x 10 sr
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3.14x10%sr

4) A material surface at 600 K has the following spectral, directional emittance: 1 point

' _ {0.9 cosf A< 1lum
€= 0.2 A>1um

What is total, hemispherical emittance of the surface?

0.50
0.35
0.25
0.20

No, the answer is incorrect.
Score: 0

Accepted Answers:
0.20

B ECOE

5) The view factor between two parallel infinitely long cylinders of same radius, R, and 1 point
separated by a distance of 2R from center to center is
0.081
0.81
0.0081

0.19

No, the answer is incorrect.
Score: 0

Accepted Answers:
0.081
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